Use of an Ammeter - explanations   
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In this circuit there are two cells and two bulbs but the cells are facing in opposite directions. The cell on the left will ‘push’ current round the left hand loop (one cell and one bulb) and so ammeter 5 will read 0.1 A. The cell on the right will ‘posh' current round the right hand loop (one cell and one bulb) and ammeter 7 will read 0.1 A. 


The two currents ‘join up’ to flow up the centre and so ammeter 6 will read 0.2 A. Take away the centre wire and no current will flow as the two cells will just be opposing each other.





In this circuit there are three cells and three bulbs. This will give the same result as our reference circuit with one cell and one bulb. The current measured by ammeter 3 will be 0.1 A. Because no current is lost as it moves round the circuit ammeter 4 will also read 0.1 A. A circuit will two cells and two bulbs would also have a current of 0.1 A.
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This circuit shows one cell connected to one bulb. Let’s assume that we have measure the current using ammeter Ao and it is 0.1 A. We will use this as our reference circuit. For all the circuits we will assume that all the cells are equally powerful and all the bulbs are identical. 








In this circuit there is only one cell but there are two bulbs. It will be harder for the current to flow round this circuit and so the current will be half of that for the one cell and one bulb and so the reading of ammeter 2 will be 0.05A





This circuit shows two cells in series connected to one bulb. Because there are two cells and still only one bulb the current will be twice that for the circuit with one cell and one bulb. We measure the current in ammeter 1 and it is 0.2 A.











